EARAROBEEIERT — 2 N— IBISH —F

20185115230 (&) 14EI%#ASH

mll&iféﬁﬁﬁfiﬁ C4 ¥R (xwlw | lmEmml - |5 5) wom 8
[AE4£] 17%&:180,000  ~ 2#&:42,000” ~ 33%&:18,000 M . 43%&:13,000 53 :9,000
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> 44 | BABIE 1:29.7 1-1-1-1 | 38.1| — 2 463 | REEIE— (55H2)
1) 3| E*B—01 54.0 ) v |FHAE_
REATAT v — B:TIVIT— b HET7— L
#o4 | EHEE 1:29.9 4-32-2 [38.2| — | 1 | a6 |FLFE ()
0 4 T7E-L 54.0 (3/4) -3) ;Cfif—
R:vavFhr7 B:54TU—E2R HET7—L
R HE#HZ : —7-5- - KEFEKR (5542)
3 2 EhH)F v 4 4 gﬁ.oﬂ 1.(330).5 7-7-5-4 | 38.4 6 ;1_764) vl A
R:IAY>FE2Tc B b= YIL N -
S v sy KEFH) : 58— — HEEEZ (5#)
NERRESDZTL 5 g 1.(331).1 6-5-8-6 | 38.5 3 <5+114) ALEE A
L:ALNTyFILE BUXLRF—T milll =8l
5 = #H o5 | AEHE 1:31.1 2-2-3-3 [39.5| — 7 440 | BEEHER (1)
517|7|XTFVTIRT> 0 75%) G | Troakevay
R:2FA4d—I K B:OXEIHIFM> EvJILy RT77—L4
= ST B 5 | AZEIE 1:31.6 5-6-6-5 |39.7| — 4 409 | ANER (BEHE)
EE |- =TRELY 53.0 @ 1/2) (-4) |SREBHEE
R:h>iN=Z— B:AH RS J =Y Tr—L
— s | ema 3. 87 8 — MEEEAR (SE4)
7155 | N1 T7ZANAH # 540 (12312/2'> A ’ f’; KA )
R:TSv 84K B:ULT7RANAF hEEIS
o # 6 | RIREE 1:32.7 3-4-4-7 |40.8| — 5 449 | XBET (BEHE)
888 | HVANTT 0 @) 4 | W Tr-ZPEVar
XA TagtLyy BHAXEZUT J—H Ty — L
® I —F—@EBIERL
13=zr= 3,7,8,4,6,1,(2,5)
Aol=5r= 3,7,4,8,1,6,2,5
BEE 3,4,7,8,2,6,5,1
43—+ — 3,4,7,2,6,1,8,5
[ RN
B OB 3 230M 714K 3-4 120H B = 3-4 160 &R 2-3-4 940M
8 B 3 100M 2-3 840M B H 3-4 340 JEH 3-4-2 2,700
4 1004 2-4 730M
2 1609

ABICOVWTRDTEEERROODE. TR LIV,




